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Question No: 11

g)_38%k:g rice is to be packed equally in 5%1@9 packets. Find the number of packets.(5 Marks)

(/5)-4/(;@;!,«:7&1_);9:-99@(4/,1/,uﬁu}giﬂf}%%/J;Lg(lf;g?)sé

Totalrice:38%k:g:§k:g (1 mark) J,%f:gg%ﬂ/‘f:gﬂfﬁ(ﬁfl)
Weight of each packet =53 kg=--kg (1 marks) UJ;K.LJ;/;=5%(!/'¢%=171(1/:K(/1)
Number of packets = % - 1—21 (1 marks) ,.;Ju;gzg - %(/1)
:72—7 X % (1 marks) zg o %(/1)

=7 (1 marks) =7(/7‘;1)

Calculate the square root of 15625 by division method. (5 marks)

CF5) o 5 313010 K15625

125 (#D)
125 (1 mark) Uis625

1 15625 /

1 (1 mark) —1 7D
22 |56 Visite Official Website www.schoolbasedassessment.pk 22156

44 (1 mark) 44 1)
2451225 245/1225

1225 (1 mark) 1225 (1)

0

0

v 15625 = 125 (1 mark)
V15625 = 125(+1)

Question No: 12

a)if X ={1,4,5}andY = {4,6,8,9},thenverify X NY =Y N X. (7marks)
(ADXNY =Y N XU =bnY = {4,6,8,9}5X = {1,4,5}.)


https://pecassessment.com/admin/pilot_items/pilot_view_combine/10104
https://pecassessment.com/admin/pilot_items/pilot_view_combine/6696

X ={1,4,5}

X ={1,4,5}
Y = {4,6,8,9} Y =1{46,89}
XNY ={1,4,5}n{4,6,8,9} (1.5 marks) XNY ={1,4,5}N{4,6,8,9}(+1.5)
= {4} (1.5 marks) — {43 (#1.5)
and YNX=1{4,6,89}n{1,4,5}  (1.5marks) YNX={4,6,8,9}N{1,4, 5}(/1.5)
= {4} (1.5 marks) _ (#1.5)
Henceproved X NY =Y NX (1 mark) '

XNY =Y N Xt t(£1)
Hameed bought a piece of land in Rs 600000 and sold it in Rs 450000. Find his loss percentage. (8 marks)
(A8 4 a1 o 2553 U &_28500005 1 sl g P Ut 06000001 F LT 5E 47
4722260000043/
2352245000045/
M=y fed-e3spE A1)

Cost Price =Rs 600000
Sale Price = Rs 450000
Loss =Cost Price -Sale Price (1 mark)

= 600000 - 450000 (1 mark) =600000-450000( 1)
= Rs 150000 (1 mark) www.schoolbasedassessment.pk =150000&5.(#1)
Loss Percentage = ﬁ x 100 Muu’ﬁ=(uuﬁ/,~/’¢}.)x1002
= % x 100 (2 marks) B 150000 ;OO(/‘;Z)
= 17;) x 10 (1 mark) = 60000015>< ©
=25% (2 marks) =% ~ 10(/{1)
=254 (+2)
Question No: 13
1341w

a ). The n'” term of the arithmetic sequence is a,, = 5n — 2. Find the arithmetic sequence. (05 marks)
(/5)-@/(}1’”,14”6‘?_%%1 = bn — 2f/nthd/,u’d€

an, = 5n — 2

an = 5n — 2 c‘—L/@ﬂ n=1
by putting n=1 a1 = 5(1) — 2
a) — 5(1) — 2 P
a; = 3( ) (1 Mark) a} =301
by putting n=2 = Jtnn=2
as =5(2) — 2 az = 5(2) — 2
as = 8 (1 Mark) a2=8(/7}1)
by putting n=3 www.schoolbasedassessment.pk e o S n=3
as = 5(3) —2

a3 =13 (1 Mark) a3 = 5(3) n 2
Hence the required arithmetic series is; az = 13(#1)
3,8,13.. (2 Marks) -gﬂd‘?,}u"‘f:

3,8,13,...(#2)
Find the value of unknown z : 5 :: 150 : 50. (5 Marks)

(#5) : 512 150 : 504/ s d fp bt

25150 : 50 x:5::150:50
product of mean = product of extreme (1 Mark) %ﬁwbg@bﬁ%’/}w"%fs/(/{l)
150 x 5 =50 x z (1 Mark) 150 x 5 = 50 x (1)
DES — g (1 Mark) 5 = 2(#1)
r=3XDb (1 Mark) :c:3><5(;}1)
xr =15 (1 Mark) .

z =15(+1)
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